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ECONOMICS
D EIES

(Hindi & English Version)

[Total No. of Questions: 23] | [Total No. of Printed Pages: 08]

[Time: 03 Hours] [Maximum Marks: 80]

e —

(1) & g7 g Fear sfqrard &

(2) BT BHE 1 R 5 qw qego §eT & IdF avgia §YT 1 5@ @7 8/ (1X32=32)

(3) W HEIF 6 | 23 aF H aake [Raey &4 73 &/

(4) 5T BHE 6 @ 15 aF HdguId HeT & FF FET 4Y 2 5% [T &1 Ly
wizg T 30 I B :

(5)  H¥T w16 W 19 & TGO F¥T & HAH HET T 3 I@ [ &/
o Wi 75 TG &/

6) T BEE 20 § 23 aF QHAGOTNT W & A T 97 4 5 [T &1 v e
120 I &/

Instructions -

(1)  All questions are compulsory.

(2) Question no 1 to 5 are 32 objective type questions. Each objective question
carries 1 mark [1x32=32]

(3) Internal options are given in question numbers 6 to 23.

(4) Question number 6 to 15 are very short answer type questions carries 2 marks
each. Word limit is 30 words.

(5) Question number 16 to 19 are short answer type questions carries 3 marks each.
Word limit is 75 words.
Question number 20 to 23 are long answer type questions carries 4 marks each.

(6)

Word limit is 120 words. 15
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Select and write the correct alternative -
() Which of the following is not an .e_sﬁgpti'al of ahsalmple?,
(A) Representativeness
(B) Adequacy
(C) Similarly
(D) Dependence
() Thereis always a Median -
(A) Between arithmetic mean and mode
(B) At the beginning of the arithmetic mean and mode
(C) Atthe end of the arithmetic mean and mode
(D) Equal to the sum of arithmetic mean and mode
(1) The most suitable average for quantitative measurement is -
(A) Arithmetic mean '
(B) Median
(C) Mode
(D) Weighted Arithmetic mean
(IV) In which year was the planning commission established in India?

(A) 1947 (B) 1948
(C) 1949 (D) 1950
(V) Which of the following is an example of physical capital?
(A) Machine (B) Sk'ﬂls
(C) Building (D) Both (A) and (C)

(V) The main objective of RRB (Regional Rural Bank) is to provide
loan to - |
(A) Weaker class in rural areas
(B) Weaker class
(C) Industrial sector
)

(D) Service sector
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() aﬁsnf@fzﬁﬁﬁ!ﬁﬂa%mﬁmmﬁl .
(1) FBT Pot T 1 oo ferd @R & =
(IV) 1991 ‘@IUB?{W# ....... RO &3 & Sl W 5% yeR :

) %ﬁwmam@%ﬂ
(v) Wﬁﬁ%m&ﬁaﬁwﬁmﬁﬂ%ﬁaﬁaﬁwﬁméﬁﬁ

.............................................. 2

Fill in the blanks -

() Human wants are ................cccoveviiieeciiecece e,
) SR RUUR USRI is known as the economic Barometer.
) The 1in sign Po1 indicates the .........coovverevvvevreenrrersenenee,
IV) Before 1991 the government imposed many type of controls on
......................................... sector industries.

(V) The participation rate of women in the workforce is
...................... in rural areas than in urban areas. |

(VI) The first measure to |mprove agricultural marketing is ..............

73 /3y feray - : o (1X6=6)
) AfadT § Hel @ fawwerl @1 A U BRI B
) W AT 0P AP ol &
) Hewas TUNE B A —1 H +1 a%aﬂiﬂ‘l‘m%r
IV) a¥g Ud WaT FR (o7, . &) I 2017 | R §|
(V) 1955 ¥ A1l = HETH WAGRT WIPicid il B JNRA {37 |
(VI) 1980 & 395 T 9, WWWﬁmmmgﬁwﬁﬁ
3 FAE oY |
Write the true/false - .
(1) The sum of deviation of items from median is zero.
(l) Arithmetic mean is a positional value.
(Ill) Value of correlation coefficient ranges from -1to +1.
(IV) Goods and Service Tax (GST) law come into effect from 2017.

(V) In 1955 Mao introduced the Great Proletarian Cultural Revolution. %

(
(
(
(

(V1) Till the 1980's China, India and Pakistan had similar growth rates
and per capita incomes.
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(1x7=7)

Y4 WE SISl TEY — o @
e (31) - Ied (8
() S = (a) fee fagwal @ SIEatf
Cagll
() ffdw = (b) anfie frarsam | Her
Iy  Sfew P a1 am (c) ¥ A g 1k
(IV) oo~ R (d) foga %
(V) sf (e) PfYea -
(Vl) ARaw wE () orvit e
(VIl) Ry anfdfe & (g) @Ig W HEARET T
Match the columns -
Column (A) Column (B)
()  Continuous variable (a) Attracting foreign investors
(I} Discrete variable (b) Engaged in economic
activities
(Il)  Benefits of organic farming  (¢) Certain value
(IV) Disguised unemployment (d} BRICS
(V) Workers (e) Agriculture sector
(VI) Gilobal economic groups (f) Sustainable development
(VIl) Special economic zones (g) Any numerical value
g5 UB q@ H SR Qg - ‘ (1x7=7)

()
fafey &1 ganT fear Ser 87

I

IV)

(
(
(V) emuR oy &1 8H1 Fifke?

anfie deat @ Fr FEa £ -
() T 3H | AHIORTT Arg gReas & Gy 9F @ o g 7y

l) eafdra sofi § wfegar a1 1o F1 g3 el
frdaies @ v 1 F qd F1 FuiRa e wfke?

(VI) <91 & 99 a1 SitueiRae &= e o e
(VII) FreTe @t e f5 99§87 1992,

Give answer in one sentence -

{)

What are called economic facts?

(I Which mean method is used to save time in calculating arithmetic

" mean of large numbers?
)
(1

Number?

(V) What should be the base year?

(Vl) Who is the largest formal sector employer in the country?
(VIl) In which year NABARD was established?
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Write the formula for calculating the median in individual series.
V) What should be determined before composing the Index
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7

7.8

99

9.10

U1

9.12

913

qiftedl o1 o fagman faRau | | 1Lk
Write two characteristics of statistics. %
wﬁaaaﬁzawa%mw;a—% O .
Write any two functions of statistics.
mafts vd Rdas 95e § o1 Q) eir fRikay |
Write any two differences between primary data and secondary data.
| siuar/OR
afferel & iy aik wwolia ¥ @) afaw frRan |
Write two differences between classification and tabulation of data.
JaTgiss ufteas a1 ol falkey |
Write the meaning of non-random sampling.
Jizar/OR
s FiaRor o1 aed failkau
Write the meaning of spatial classification.
FN wgRy & A @1 oRw A |
Define measures of central tendency.
3T / OR
ARG TR 7 &1 e fafay |
Write the meaning of weighted arithmetic mean.
T Y AR w32 WEI 67
Does zero correlation mean independence?
a1/ OR
TS FETEH O B ol H DI qEwEy TG F9 IS uReg
BT &7
When is rank correlation more precise than simple correlation
coefficient?
e wfewerms @1 aref foRaw |

Write the meaning of import substitution.

. gierar / OR
Yeadta giorIel @ a1 deg forae |
Write two goals of five year plans.
T s @1 a1t ferfag |
Write the meaning of rural development.
3rerar/OR
Y fafdefaRor @1 sief forRag |
Write the meaning of agricultural diversification.

wfrase sife &Y oea &7

What is a self-employed worker?

@

@

)

@
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.14

.15

.16

qa7

U.18

9.19

gt/ OR
aifra Rl A9igR B & ¥?
Who are casual wage labourers?
RT3 AR 7 SR o R ! s |
Which similar development policies were adopted in India and
Pakistan? |

izrar/ OR
UT N $RaE BRIHA BT IS F|T 17
What was the objective of ‘The Great leap forward’ programme?
419 4 anfie qur f&u v § o e e
In which year Economic Reforms started in China?

Iyar/OR
U9 gRT TP |A A GHIG B BT &ar BROT 7?
What was the reason for China to end its one child policy?
9ge1d & i o ey |
Write three merits of Mode.

| erar /OR

Aftger & @ o7 AR |
Write three merits of Median.
TaEs B MgeEar I A4 g g wWe B |
Explain the need of index number in three points.

Jrerar/ OR
FTel g Feam Ione B A G e |
Write three demerits of Karl Pearson’s correlation coefficient.
WA B THY ARG D GHE SURYT W A MY gAfaat B fafag |

Write the three major challenges facing India at the time of

independence.

uar/OR
PR e # B @ TRENT & o1 T SR g4 97
What were the three main causes of India’s agricultural stagnation

during the colonial period?
FHRITS TR gurd) &) SaE] AT I JF BT 57

How the opportunity costs of negative environmental impact are high?
aerar/OR
7 UgtRvT Hahe Ue 41 uRkeed 87 Ay g @ Fi?

Is environmental crisis a recent phenomenon? If so, why?

(3)

(3)

®
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w00 Yafdde Wt R @ =R o falEy |
Write four merits of personal interview method.

arerar/ OR —
e PR A & ar Jor il

Write any four merits of telephone interview method.

w21 Fyeferea erEl @ Awd Wbl @1 IRGeH BT - ()
[ yms | o- 10| 10—20 | 2030 | 30—40 | 4050 | 50-60 |60~70
EEEESEE 15 | 25 | 8 3 2

Calculate average marks oi the following students -
Marks 0-10 1 10-20 | 20-30 '.30-40 40-50 | 50-60 | 60-70
No. of students | 5 12 15 25 8 3 2

gar/OR
AR it A Wy qur W o € #) P aNeRar feRer R g
AT R BT TREHAT BT |
[ sm@®") | 10 | 20 [ 30 | 40
| Rt @ e | 2 10 4

The frequency d|str|butmn of the number of persons and their
respective incomes (in I) are given below. Calculate the median

income.
Income (in T) | 10 | 20 | 30 | 40
| No.ofPersons | 2 | 4 | 10 | 4
§22 WRG ¥ SRRV B FR A foiay | (a)
' Write for advantages of liberalization in India.
dyar/OR
A B g RER F oy ITE IR UqE@ FRS! B ey |
Write the four major factors responsible for the high growth of the
service sector.
723 A9 ol § Fw onfdw Wofg 4 o veR wEmw B 27 5 uR
ﬁﬁ:‘m g e W| (4)
How does investment in human capital contribute to growth? Explain
any four points,

3o/ OR
qRd A A9 ol i 3 AR g ween ffae?

Write the four main problems of human capital formation in India? L
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